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Ca®* = 194 mg/L
Mg** =24 mg/L
Na* = 14 mg/L
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HCO3 =317 mg/L
S0,* = 67 mg/L
ClI'=204 mg/L
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2.

10% Calculate the head loss and velocity of flow in a 150 mm pipe carrying
22 LIs.

15% Given the drainage area in Figure 1, calculate the discharge at the
outfall using the rational method. Using the five-year rainfall intensity-duration
curve in Figure 2. Other data are for Area 1, C = 0.5, area = 1.3 acres, and inlet
time = 3min; for Area 2, C = 0.4, area = 2.5 acres, and inlet time = 10 min; for
Area 3, C = 0.7, area = 3.9 acres, and inlet time = 5 min; sewer lines in Areas 2
and 3 are each 500 ft in length and the average velocity of flow in the sewers
my be assumed to be 3.0 ft/s.
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